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| For use with pages 302-308

Write an equation in point-slope form of the line that'passes through the
given point and has the given slope m. -

1: (19)m' -3

— 2. (4,-10);m= 3. (=5,6 _,4.-
-q--%(x-!) . ( y»%&@‘_z%{fj = )(;n’o H(Xfi’)i
4. (-2,-8),ym=3 5. (—4,-T)m= i .5 (=9,2);m=— 5,___#__—__-___‘
| @ra 5(x+2)) (y+7= - (x%9)) (*}-2—-'53_‘2*)/ -
7. (6,—4m=% 8 (0, 15m=7% 9. (- 8())(:»14)#_#_8T
6-+'4=£(X‘(9\I ' f.|_5 = 4 (x-0 _ M FEo=2 L8 =
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RE 1. # y
O -~ " 1
3 f -2, #6 | 10x \
1 —3\|-1, x
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Name ' : | . ~ Date_ .. ¥
| ’ 19, y-3=2 (x+2) . 21.y+2=-3(X§

LE!.:SUN Practice B continued N 5S= 2( X+5) ‘7}8':"3 (X-1)8
. i 302-308 2 (. . _ = i .
B s 20, y=30x04) s, 435060 §
s 4 e - i "
Write an equation of the line shown. * T b= g" ()( ""” : _ \l 2 = %(X 2.8
: | 21. ]
19. (|_2l3] 1P 20 R 7] (4ls) L . ¥ . l - N
' 3 L . =% # 1 |
1 TTx (=1,-2) | |
\ y
-5 —_ Ly Xl i | & i
A1 \ ,
=3 _ ' g =7 \ ‘
(=5, -3) P -1, HER (1,-8) ’r??/r;: |
111 (4,00 | l 10 W P
" 29, TG 7 23. T T 24. ST T T XX 18
' | (-3, 6) | - T b
3 . _ 3 =
- (1,3)_ _ i (0,2) FTINT
vi 1 O v n i
D - 7 == : gk I 0
F—z —92'1 it = ! R aval iRt 1
: T (3,0) ; g Ty
7 i -3 |- N] x b (5, —3) ~N '
/ : 3 y o T
/ | I & [ | N &g
. |
= t passes through the given poi (g ‘"N
; A e 1]
26.(-3,10, (4.2 : L G
@3,-8),(7, =Y+ (X -3 280 (4,4, (25 =2 (xr4) g i
. , ‘[*2?%()&'-73 fo . (y-5=24X%-2Y" 3 _
29. Bryce Canyon National Park From 1990 to 2000, the number of visits by people £
to Bryce Canyon National Park increased by about 23.9 thousand visits per year. In % Al
~ 2000, there were about 1102.4 thousand visits to the park. _ _ g 4§
a. Write an equation that gives the number of visits (in thousands) as a function of 3 ;
the number of years since 1990. y—1102. 4= 23 Q(x-10) .- . s
b. How many visits were made to the park in 19957 4 &2.9 +hoLSAN d VISITS 3
. 30. Airmail Letter Rates The table shows " 3 " g ﬁ
the cost of mailing different weights of - : : B
airmail letters to Canada in 2005. ) o lars)sl 085 | 1.10 [ 135 235 | 3
; } . 2 = 1)
a. Explain why the situation can be modeled using a linear equation. - =] J
™ b. Write an equation that gives the cost (in dollars) as a function of the weight of an § ;
g airmail letter (in ounces). Y—0.T5= 0. 25(X~-2) ° &
: . — ]
2 c. How much does it cost to mail a 5-ounce airmail letter to Canada? $1.60 =,
o 31. New Mexico The population density of New Mexico increased at a relatively constant 8 . B
— rate from 1980 to 1999. In 1985, the population density was about 1 1.62 people per - :
- square mile. In 1999, the population density was about 14.28 people per square mile. N §
Q Write an equation that gives the population density (in people per square mile) asa ' W 4
: function of the number of years since 1980. What was the population density in 19907 @»_-.:‘;, |
| N-11.62= 0.19 (X~5) | - e
. 5 = j 1 i
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30  Chapter 5 Resource Book 8 _'L]\)C{ re o

m e




Algebra 1 Part 2 _ Name

Writing Linear Equatioils in Point Slope Form Item

vyrite the point-slope form of the equation of each line given the slope and y-intercept.

1) Slope = —%, y-intercept = -2 2) Slope = -i—, y-intercept =0
e p— ) . _— e e ———— r
"+2:’-(X'y ‘ANl = :é - \
<l 3 =D =g X 0)_ Y.
3) Slope=7, y-intercept=2 ‘ 4) Slope=2, y-intercept=3

a0 ) (337300

Write the point slope form of the equation of each line.

&) ; 6) A

3

4

Y
A




Write the point-slope form of the equation of the line through the given point Witjil the given slope.

) (5.~ - 2
: rough( 2), . slope 10) through: (5,2), sloPe'"'

(y+2=-2(x-5) @‘““‘ﬁ

12) through: (5, -5), slope-—-—

11) through: (5, 4), slope=

3) thr = 1 1
13) through: (=3,0), slope= 14) through: (-2, -2), slope"-:;

the equation of the line through the given points.

16 g 0,98 2.3
)

rite the point-slope form of

ot
15) through: (5, —4) and (0, 3)
7

18) through: (0, -5) and (-4, 4)
348 & = £ (x=0)

y-i4= -2 (x+H4)

20) through: (o —4) and (4,2)
2 (% -0)

17) through: (0, 5) and (—2 0)
s k- B —;-,_-(x -6)

¥-0 = 2 (X+2)
19) through: (-5, 3) and (0, —4)

\} -3 = '—(x+5\
=2 )

21) through: (-2, -5) and (0,-3)
. N 5= 1(X¥2)
o Ny+3 =1 (Xx+0)
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1. slope: 7; y-intercept: 4' 2. slope: ~3 ;y-intercept: 5 3. sioPe: 1; y-intercept: —6
(?_7“4) S (Y=-3%+5) (=% 60
. Write an equation of the ine shown.
4. [ ] 5. Y 6. 42 |
J0©.5) N : (4, 6)
" {4" 3} & .
\ ' 11l
3 : 1 . -
\
l \ " - —l 3 X P
(1,0 > G y
=2 171 3 | = = : ’ : T
\ : 1/0,-3 (=4,0) [ 3 | x
T ] LITT | J,L !
] ~f =2X~5§ X+ 3

10. (-1, 9),(6,517_21.7)11. 2—13) (\13;1%{3 12. (4, -21), (1; zﬂ-{ b

Practice B
For use with pages 282-291

Write an equation of the Iine with the given slope and y-intercept.

e line that passes roug t e given pomts

7. (—=1,0),(0, —ZJ@S (04)(6 13) 4:*#* (45)(32 \,;-3)(»8

L'S NOSS3T

Write an equation for the linear function f with the given values. | -

13. f(0) = =1,/(3) = =10 14. f(-4) =5./2) = 6. f(-4)=-2.f))=
Ex)=-3%-T) F(X)= -3 % =P Fx
16. Landscape Supply A landscape supply business charges $30 to deliver mulch:
mulch costs $23 per cubic yard ) e
a. Write an equation that gives the total cost (in dollars) of havin - mulch delivered _ :
to a site as a function of the number of cubic yards ordered. \j =23X+30> _.______F |
" b. Identify the dependent and independent variables in this mtuatwn@ep = COS '!‘ !ﬂd =¥yards

c. Find the cost of having 8 cubic yards of mulch dehvered toa s:tc( $2i4 )

Cable Television A cable company charges $44 pér month for basic service. Each
premium cha.:'mel costs an additional $16 per month. ' '

-
N

a. Write an equation that gwes the total cost (in dollars) of cable each month as a

function of the number of premium channels =l X+4 5
b. Identify the dependent and independent variables in this situation.

c. Explain how you can use the equation from part (a) to approxnnate how many R
premium channels you can have for $80 a month. '

Laser Printer A laser printer has a “sleep” mode that is an énergy -saving feature.
When a job is sent to the printer, it takes 45 seconds for the pnnter to warm up and
then the printer prints pages at a rate of 6 pages per mmute

-
o
:

a. Write the time it takes the printer to warm up in minutes.

b. Write an equation that gives the total amount of time (in minutes) it takes the
printer to warm up and print a job as a function of the number of pages in the job

c. Find out how long it takes the printer to print a SO-page job if it must first warm up.
L | L“’ 9 minvtes)

: @ gebra 1
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Practice B
5-2 For use with pages 292-299
Write an equation of the line that passes through the given point and has .

slope m. ' . _ , | ":_2)”23 | : "._.'|7
1. (-1,6);m=5 ‘j:bX‘*“ 2. _(10,3);,m=@. (2,'—3);m|=7<7 a4 :

4. (—4,-9;m=2 5. (5, —4xm=3 6. (—8,1)m=—3
Write an equation of the line shown. .
7. A | 8. : > 9. SRR _
: \(0,5) _ vl -
- (-2,2)
\ - : 2, 4)
3 4 1
: (1, 1) -5 2 x
-3 -1 ]\ 3 x / 1
S| 3 _
A | 1 = -1, 3 =
‘ =]} (=4, —4) T

| INEN
(N=-9x+5) (N =3x+8) |, (J==zX+5 ) .

Write an equation of the line that passes throug the given points. '

1. (=5, =3.(12,174)° 12. (-8,84),(5, —46
EX- . - QE-loxX+4 )

ite @mequa e given values. ‘
13, f(4) = —8, f(=3)=1 "_. 14. f(6).=—4./0) = =9 18: fi=D==6,4)==1a __
Fx)="x=-2%7) () 2bBA+ro N G)= -8sX -38s)
16. Oil Changes You are scheduled to start yo oil change shop 2 hours
after the shop opens. Two hours after you start, a total of 11 cars have had their oil
changed since the shop opened. Three hours later, a total of 14 cars have had their oil-
chariged. At what rate are cars getting their oil changed since you star ing? ;
How many cars had their oil changed before you started work? le car per hoV
; _ . cars
17. Motor Vehicle Licenses The amount of revenue brought in by states from motor
vehicle licenses increased at a relatively constant rate of 499.79 million dollars per
year from 1990 to 2000. In 2000, the states brought in 15,099 million dollars in
revenue from motor vehicle licenses. . y

a. What was the approximate revenue (in million dollars) from licenses in 19907?

b. Write an equation that gives the revenue (in million dollars) as a function of the -
number of years since 1990. : . :

c. Find the revenue from licenses in 1999.

18. Imports The number of metric tons of fruits, nuts, and vegetables imported into the
United States increased at a relatively constant rate of 437.5 thousand metric tons
per year from 1990 to 2002. In 2002, about 9900.5 thousand metric tons of fruits, nuts,
and vegetables were imported. Write an equation that gives the number of thousand
metric tons imported as a function of the number of years since 1990. Find the year

in which the number of metric tons reached 8000 thousand metrictons. ~
| R 55X +H650.5 )
@'-  petuween Algebra 1
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\Igebra 1 Part 2 ‘Name

Nriting Linear Equatioﬁs in Slope-Intercept Form Item

te the slope.-intercept form of the equation of each line given the slope and y-intercept.

.) Slope = %, y-intercept = —1 2) Slope = -—%, y-intercept = 0
' 2 ] « 3 .
@ @

4) Slope =4, y-intercept=3
3) Slope=——, y-intercept=—3 ) Slope =4, y-intercep

Write the slope-intercept form of the equation of each line.
5)

+ 6) A

: il : y=-2x-3
<A 5o 734 .i.?@ 5 s B 2 \10 N y

A

7 : Sﬂ 8) A

] \ w
2 \\ s
—< >3 N
5443 -R0 -5 4N Hl0 3 4
2
M
N
: - \\A
Y Y
i



intercept form of the equation of the line through the given poii:lt with the given slope.

‘Write the slope-
'9) through: (~4, 5), slope = undefined 10) through: (2, 5), slope=—-2
G - ERCERIRD),
11) through: (3,-2), slopc——-— 12) through: (-5, 1), slopc——l-
G 30 Ll 9
13) through: (-3, 0), slope=1 ) Bmongs lay 0, Slopc__z

Write the slope-intercept form of the equatlon of the line through the given points.

| ) through: (0;4)and (2,-3) . 16) through: (-1,5) and (0,4)
| 17) through: (b, 3) and (-5, 2) 18) through: (0, 5) and (4, -3)
y=aes) @)
19) throug}_l: (-3, 1) and (0, 5) : 20) through: (-3, 1) and (-3,-2)
21) | through: (-2, 0) and (0, —4) 22) through: (-5, —4) and (0, -3)




Sections 5.1 and 5.2
Application Problems

A recording studio charges musicians an initial fee of $50 to record an album. Studio
time costs an additional $35 per hour.

a. Write an equation that gives the total cost of an album as a function of time.
— [ '\_-. \
(Y=35%+50)

b. Find the total cost of recording an album that takes 10 hours of studio time.

A dance academy charges $20 to use a facility and $25 per hour of instruction.

a. Werite an equation that gives the total cost to learn dance as a function of
instruction time. :
(4=25X+20)

b. Find the total cost of 2 hours of dance instruction.

Your gym membership costs $33 per month after an initial membership fee. You paid a
total of $228 after six months.

a. Write an equation 'rha'r gwes s the total cosf asa func‘rlon of the length of your gym
membership.

A gym charges $35 per month after an initial membership fee. A member has paid a
total of $250 after 6 months.

a. Write an equation that gives the total cosT as a function of the length of your gym
membership. =3 T
7 = C) X + I—f
b. Find the total cost after 10 months.




In BMX racing, racers purchase a one year membership to a track. They also pay an
entry fee for each race at that track. One racer paid a total of $125 for 5 faces.
A second racer paid a total of $170 for 8 races. How much does the track
membership cost? What is the entry fee per race?

A BMX race track charges a membership fee and an entry fee per race. One racer
paid a total of $76 for 3 races. Another racer paid a total of $124 for 7 races.
How much does the track membership cost? What is the entry fee per race?

membership= $40
-Hﬁﬂ}?eeiglz

You wake up at 8:00 in the morning to find that it is snowing outside, so you go back
to sleep. (SNOW DAVYIll) When you wake up 2 hours later, there are 5 inches of
snow on the ground. At 2:00pm, there are 11 inches of snow on the ground. At what
rate is the snow falling? How much snow was already on the ground when you first
woke up at Bam?

/SNowW 0N gro

(H5100ann: Z)HChii/ .

—-—

(Fate = 1.5 per hovr)




42

= b. Graph the equation from part (a). Explain what

Name

> Practice B
54 | For use with pages 311-316

Write two equations in standard form that are equivalent to the
given equation. '

1. 6x+ 24y = 18 - 2. Bx— 14y =2 3. 6x+y*1
4. —4x—2y=16 5. 2 +3y=11 6. —9x+4y—5

Write an equation in standard form of the line that passes through the
given point and has the glven slope m.

e KLY 6Dy et (EY8)

10. =7.8m==3—0u__11. 9,-10,m==4  12.. (15 4),m_%_ /'_7Y:_ ) |

(3x*+y=-13) (=26
Write an equation in standard form of the line at_ passes through the
given points.

13. 2,6),(3,8) OX-\ =-7 (-1,2),(5,4) ;
16. (3,-8),(5,— =3) 18 (=3,-1),(6 —8)

orizontal and the vertlcal lines that pass through

22. Text Messaging Your cell phone plan charges you . ¥
$.02 to send a text message and $.07 to receive a text © . 100
message. You plan to spend no more than $5 a month % $ 75
~ on text messaging. E g 50
a. Write an equation in standard form that models ,E %A
the possible combinations of sent text messages % 50 100 50 200 250%
and received text messages. : : Text messages sent

the intercepts of the graph mean in this situation.

c. List three other possible combinations of the number
- of messages you can send and receive.

23. Potting Soil Mix You are making 24 pounds of your own pottmg soil mix of
sphagnum peat moss and coarse sand. You buy the peat moss in bags that welgh
approximately 2 pounds.

a. The last time you made 24 pounds of potting 5011 you used 9 bags of sphagnum
peat moss and 4 bags of coarse sand. Use this information to find the number of
pounds in a bag of coarse sand. L

~b. Write an equation in standard form that models the possible combinations of
bags of sphagnum peat moss and coarse sand you can use.

c. List three possible combinations of whole bags of sphagnum peat moss and
coarse sand you can use to make the potting soil.

]
]

Algebra 1
Chapter 5 Resource Book ' - @
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Algebra 1 Part2 Name

Writing Linear Equations in Standa.rd Form Item

~— cite the standard form of the equation of each line given the slope and y-intercept.

1) Slope=—z-, y-intercept =3 2) Slope:—%, y-intercept = 5
5><-2\/:--—j(09 @*5\/=2§>

3) Slope =4, y-intercept=-—4

4) Slope =- 3, y-intercept=-3 -
- LX Pyj=—ta

Write the point slope form of the equation of each line.

5) A
__ ) mum
e T34
£ H
1. " b3
Y Y
7) A - 8) A
A B ~
¥ Ny ¥ = =2 (X+2) ~
o z
B 7 \_\, = :;_‘ \X 0) D
‘-5—4-3)-*(-10 XN ~B5hB2do0
¥ 4 O 2
Y Y




Write the standard form of the equation of the line through the given point with the given slope.

2 il Py =3
9) through: ( 1_' 1), slope 10) through: (—4 —4,-5), slope= 5

(ggﬂ:hﬁ%> | 6 23’*4)

11) through: (2, =1), slope = undefined

12) through: (4, 2), s'.lc:»pa:—E

=2 3s< Lw)

13) through: (1, 5), slope =-8

14) through: (1, ~2), slope =-—%
(Brry=13) ><+LH'—5)

Write the standard form of the equation of the line through the given points.

+3) through: (=3, -3) and (1, 3) 16) through: (0, ~4) and (1, -2)
17) through (1,-1) and (4 ~ 18) through: (-3, -1) and (0, 5)
19) through: (3, 0) and (1, 1) | 20) through: (=1, 1) and (0, —2)
21) through: (-4, 2) and (0, -5) 22) through: (0, 2) and (-5, 0)




Linear Equations Name Period___
l -

Linear Equations GOLF

—

) The golf cup is located at the point (-2, 2). Find the equation that will
M knock each ball into the tee.
(= :
6= 4
1 &
- 5
4
3
T &
; ® &
& 1
- ol R
-6 -5 -4 -3 2 -190 | 2 3 4 5 6
5 | | 4 -
& T 72
3 - 8
— & = &
‘%#9
R ¢
Golf ball Shot Golf ball Shot
1 25 4 = -4 6 EX+2Y= -0
2 W =2Y = = G 7 ¥=2
3 23X -2N =-10 8 x+Yy=0
4 x::—Z 9 7)(+2y:—]()
5 2%x-Y= =6 10 IX+2Y =2




Sections 5.1-5.4 Review Name:

1. Write the formulas discussed in class thus far:

Y2 ¥
Slope: (5 = ¥a =X,
Point-Slope Form: Y-V, = mIX-X N
Standard Form: AX +rBy=C
Slope-Intercept Form: N =1 X r

2. Considery — 3 = -2(x + 5)

a. This is in Poiﬂ‘r 'S)DPG form.

b.  The slope of this lineis __ ~ 2

c. The point on this lineis (=9, 3)

3 Considery =4x -7

a. Thisisin )0 pe =In7e rcep + form.

b. The slope of this line is H

c. The y-intercept of this lineis __~ 7

4. Consider 5x — 4y = 12

a. Thisisin__Standard form
b. A=5 B=-4 c=12
c. The x-intercept of this line is "?'/ 5

d.  The y-intercept of this lineis __~3

©



Given the points (-3,6) and (5,-1),

a. Find the slope of this line.

b. Write an equation in point-slope form.. -
y-6="F(x+3)
N+| = = (X - 5)

G Write this equation in standard form.

d. Find the x-intercept and the y-intercept.

e. Using your slope(from part a) and your y-intercept (from part d), rewrite
this in slope-intercept form.

Given (6,-5) and an undefined slope, write an equation for this line.

(x=6)
Given (-3,-7) and m=0, write an equation for this line.

Given (-2,1) and (0,4), write an equation in slope-intercept form.
= Bl ygl
Y= s R+H




t

Objective: Write linear equations using a variety of methods

linear equation is an equatidn whose graph is a line. Whether writing or graphing linear
Juations two important ideas to understand are slope and intercepts.

Slope ;
The slope of a non-vertical line is the ratio of the vertical change (the rise) to the horizontal

change (the run) between any two points on the line. The slope of a line is represented by the
letter m.

Slope can be found using: : . )

rise - m=(3"2"y1) ‘ Ay
run (xy=-x,)
given points (x,,y,)and(x,,y,)
Intercepts

The x-intercept of a graph is the x-coordinate of a point where the graph crosses the x-axis.
The y-intercept of & graph is the y-coordinate of a point where the graph crosses the y-axis.

4
S x
L aj')/ G .m-\;off-e'?
LA _
R = slope = rise . 2
i < : e run = 3
23 0)

oR

slope =, (L\"?’._.‘) =2
(3-0) 3

Forms of Linear Equations =

There are three forms we use when writing a linear equation: Point-Slope Form, Slope-Intercept
Form, and Standard Form. -

Point-Slope Form: (y - y;) = m(x - x;) where mrepresents slope and (x,,y,) is a point on the line

Ex: The line (y = 3) =%(x+1) has a slope of % and goes through the point (-1,3)

Slope-Intercept Form: y = mx + b where m represents slope and b represents the y-intercept.

Ex: Theliney=-4x-6hasa 'slope of -4 and a y-intercept of -6.

| Standard Form: Ax+By=C where A, B, and C are integers and A= 0. .

C y
Recall: —% is the slope, "y is the x-intercept, and % is the y-intercept.

Ex: The line 2x+ 3y =-12 haé’ a'slop,? of ——, x—inlerc-ept of -6 .and y-intercept of -4.

— 7 | ™ - |



- Algebra 1 Partl Name

Writing Linear Equatioﬂs (5.1 - 5.4) Review

Item,
~ Write the slope-intercept form of the equation of each line. _ 3 ““;
1) A 2) A
: W e
3 =35 R 2 ol T
~€ b0 4 - _{—S -4 -8 240 4 ¥
Y Y
Write the point-slope form of the equation of each line.
3) A o 4) M
-‘.k &
\ .
= SFZZ'B(X-‘) \* 7 .
P ; Y 3(x-2) J<FE ”‘_’fy
B R0 3 | = REEEERT ERE I
: \
| |

Y

Write the stan.dard form of the equation of each line.

3) A 6) A
=B R0 ERE 2X +5# =-10 ~FEh 5 Ao EREELE
"ﬁx ¥ - -
= T~ x
Y X

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

7) Slope =-2, y-intercept=-1

8) Slope——, y—mtercept——
( y=3 2w~Z )




te the point-slope form of the equation of each line given the slope and y-intercept.

lope =—2, y-intercept =3 4 ;

e 10) Slope =——, y-intercept=
G- 3 = -2(%-9)) ) SlopemTyy TR N
L&} S L

te the standard form of the equation of each line given the slope and y-intercept.

Slope =-1, y-intercept=—4 w 12) Slope =38, y-intercept =4 (8X': l ==Y )

ite the slope-intercept form of the eciuation of the line through the given point with the given slope.

through: (1,—4), slope = undefined iy o (), e J = £ \ =2
o (X=) ) o4 H

ite the point-slope form of the equation of the line through the given point with the given slope.

toonghi(5,9). dopemd 163 Mot 15 4}, e 7w B e

ite the standard form of the equation of the line through the given point with the given slope.

through: (-2, 4), slope=-2 [ 2X + g";_o ) 18) through: (2, -2), slope =-1

-“~ the slope-intercept form of the eQuation of the line through the given points.
. p o
) through: (1, 2) and (-1, —4) @z&)ﬁ-—i ) 20) through: (-3,2) and (0,4) (Y =3 X+ 4] (

rite the point-slope form of the equation of the line through the given points.

) through: (0, 4) and (—1,—3‘3;2::'?;10‘; ) 22) through: (4, 3) and (0, 0)

rite the standard form of the equation .of the line through the given points.

) through: (-1, 5) and (—4,4) (X 'B_Y =-{()  24) through: (-1, 2) and (3, 5)( 2% ~Lj\j = - D
rite the standard form of the equation of each line. :

P 3X-y=0 26) y=—-%x—-3 X+3y=—"9

) y—4=-2(x+2) @ o y+1=%(x_4) K 2y=0C

’rite the slope-intercept form of the equation of each line.

7=5=-4x+2) (Y= -4x-3 | 30) y—l"=-,§-(x—5) o %X‘E—) A
1) 0=6y+4x 32) 3x+3{y=—3 .
(19)




Section 5.5: Parallel and Perpendicular Lines in a Coordinate Plane

In each diagram below, line a is parallel to line 6. Find the slope of each line. What do
you notice about their slopes?

L\

WV

Slopes of Par‘aliel Lines:-'-—' —
If two. non _vertical-lines in the same plane ar-e purallel then their sIOpes are— -

the usamea L I S PO T (DN (N SO S O

b s i !_. S WL, LR S, I | (A

In each diagram below, line a is perpendlculur' to Ime b. Fmd ‘rhz slope of each Tig.
What do you notice about’ their s!opes" -

Rl SRR G Q, .
. : ‘m= 3}2_ |

/N

Slopes of Perpendicular Lines: . o - e ke —
If two_non-vertical lines in the same plane are perpendicular, then their slopes are
oooos;fc reciprocals I SN R




Example 1: Determine which lines, if any, are parallel or perpendicular.

Linea: x+3y=1.  Lineb: y=-3x+1 Line c: 2x — 6y = 4
) ' ]

m=3 . mE=3 m=3

!
; - . as b
Per'))e.nd: cular: béc

Example 2: Write an equation in Slope-Intercept Form of the line that
passes through (-2, 4) and is parallel to the line y = - 3x + 4.

———

9:

-3X-2

Example 3: Write an equation in Slope-Intercept Form that passes through
(4, -2) and is perpendicular to the line y = 4x + 2.




